Opérations Mixtes (B)

Effectuez chaque opération.

8x5= 1 x7= 222 = 246 =
6x5= 666 = 12 x6 = 6 x4 =
33+3= 4x3= 222 = 1 x9=
18+6 = 3+3= X T= 909 =
Ox3= 11 x8= 12x5= 108 +12 =
7x11 = 5x5= 2x5= 10x 10 =
2x1= I x6= 648 = 6+3=
8+8= 10x2= 12x10= 64 +8 =
3xXT= 8 x4 = 49 7 = 99 +-9 =
121 +11= 7711 = Tx7T= 11x1=
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Opérations Mixtes Solutions (B)

8x5=40

6 x5=30

33+-3=11

18=-6=3

Ox3=27

Tx11="77

2x1=2

3x7=21

12111 =11

Effectuez chaque opération.

I x7="7

66+-6=11

4x3=12

11 x8 =288

5x5=25

1x6=6

10 x2 =20

8 x4 =32

T7T+11=7

22+2=11

12x6=72

22+-2=11

8 x7=256

12 x5 =60

2x5=10

648 =8

12 x 10 =120

49 =7 ="

7Tx7T=49

24-6=4

6x4=24

1 x9=9

90+-9=10

108 -12=9

10 x 10 =100

64+-8=28

99+-9=11

ITx1=1I
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